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[Z2ZfE] = [EEREE ] X [EREHEHIPRE ]
200A 11~40m
FeBB 2/100X(100-29) = 1.4 1i A
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ST 24/100%(100-29) = 17.0 170 A




T ff  LEUKHSGELE (m—4Y— 1K) o3
iR 2. MR
vl 7 &t =) = B HAL
(B EHE)
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TUHE DPO. 6mA EE& & 2
75 sEaH 6150 4 4
EREM ¢ 150/ m 6.8
HHEE
it 121.45
HmER| 121.45




YEHER

Bk HPPEZ L=5.0m

(¢ 150)
Y ZE 7 BE | 96T
(EBIHHKE - BRE)
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2 4.500 4.500 m| 0.500 m 18
3 1.080] 0.590| 0.640| 0.430] 0.430| 3.170 m| 1.830 m 5A
4 3.010{ 0.420{ 0.570f 0.430 4.430 m| 0.570 m 40
5 4.130] 0.430 4.560 m| 0.440 m 2A
6 4.500] 0.500 5.000 m 18
26.310 m| 3.690 m 15 8
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KA VIFLVE
EF7° L-VIVN EBEE ¢ 100 x5, 000 . 5 5| 19.70
KA VIFLVE
EFmZ25F—X $100x ¢ 100 & | 0.44 1 1 0.44
ERKAF VIFLVE
EFlZAY F ¢ 100 % 90° {& | 0.50 5 5 2.50
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EFfZA > K ¢ 100 x 45° & | 0.38 3 3 1.14
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ERKAF VIFLVE
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VI o= ILEUFH ¢ 100 | 046 2 2 0.92
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EREM ¢ 100/ m 3.8 |(1.9%2) 3.8
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1 3.000] 0.860 3.860 m| 1.140 m 2 0
2 3.540] 0.790 4.330 m| 0.670 m 2 0
3 4.390 4.390 m| 0.610 m 10
4 2.740| 0.860 3.600 m| 1.400 m 20
5 2.680| 0.840 3.520 m| 1.480 m 20
19.700 m| 5.300 m 90
& A (p100x5,000)
EE = 5%
FOMEE = x
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ERKRAR VIFLVE

EFEZ2I50o ¢ 50 7.5K SUS 8] 0.16 1 1 1 3[ 0.48

PEf&EO 4+

VI h— LR @75 £ ] 0.40 2 2 2 6| 2.40

HUFE DPO. 6mFl FE& # & 2 2 2 6

2o UDEAM ®75 #H 2 2 2 6

2S5 UCEAM 50 #2 1 1 1 3

EREM ¢ 715 m 51| 4.8/ 5.1 15
MEER
it 247.79
REEE| 247.79




UVERER fick Al HPPEE L=5.Om

(175)

BUE ZUE H RE 7]
(1~358KE)
1 4.240| 0.600 4.840 m| 0.160 m 20
2 3.330| 1.000| 0.600 4.930 m| 0.070 m 30
3 2.730] 1.730 4.460 m| 0.540 m 20
4 4.070| 0.900 4.970 m| 0.030 m 20
5 2.730| 0.830| 0.900 4.460 m| 0.540 m 30
6 2.480| 1.050| 0.740| 0.430 4.700 m| 0.300 m 40
7 4.600| 0.350 4.950 m| 0.050 m 20
8 2.730| 0.600| 0.600| 1.030 4.960 m| 0.040 m 40
9 2.500| 0.650| 0.600| 0.600 4.350 m| 0.650 m 40
10 4.770 4.770 m| 0.230 m 10
11 1.390[ 1.030| 1.630| 0.600 4.650 m| 0.350 m 40
52.040 m | 2.960 m 31 A
& i AR# (p75%5,000)
BE = 11K
ZOREE = 1K
& i AR# (p75%5,000)
_ BEE = VN
ZOMEE = X




B K & % & HPPE ¢ 150
2 B Fodk <t ik i e | =
EEs

RYUIFLUEHRNMT ¢ 150 m 120.3( 121.45 - 1.14
RYTFLUEHFT G150 @EES 20/4 7 Bt 21
RUIFLUEHFT $150 FEES 10/4 A A 18
RYUIFLUEYMNRT ¢ 150 Aa 15

ITSVUOBFET ¢ 150 7. 5K Aa 4

TUIHHET ¢ 150 HPPE H 2

FEFRET EEH+ DP=0. 60mMA HFRr 2

EHRRTF—JT @150 W=30mm m 120. 3

EHRR—FT W=400mm 4 JJL m 117.1

BKRERT ¢ 150 m 121.5

EHRET ¢ 150 m 6.8




B K & % & HPPE ¢ 100
2 B Fodk <t ik i e | =
EEs

RYUIFLUEHRNMT ¢ 100 m 31.8( 32.72 - 0.92
RYTFLUEHFT ¢100 @EES 20/4 7 Bt 13
RYUIFLUEHRFET $100 FEES 10/4 A a 5
RUIFLUEYMT ¢ 100 Aa 9

ITSVUOBFET ¢ 100 7. 5K Aa 2

TUIHHET ¢ 100 HPPE H 2

FEFRET EEH 4+ DP=0. 60m~0. 90mFH HFfr 2

EHRRTF—JT $ 100 W=30mm m 31.8

EHRR—FT W=400mm 4 JJL m 30.0

BKRERT ¢ 100 m 32.7

EHRET ¢ 100 m 3.8




B2 Kk & F B HPPE ¢ 75

£ B FoAk <t ik i HE w =
T5
RYIFLUEREMT o715 m 245.4] 247.79 - 2.4
RYIFLUEWRET o715 BEES  20/4Fh il 40
RYUIFLUEHFT ¢75 MEES 10/5F a 46
RYIFLUETRT o715 A 31
TS UDHMFET o715 1. 5K A 6
TS UDHMFET ¢ 50 1. 5K A 3
TUFHHET ¢ 75 HPPE H 6
FEXRET EE& 3 DPO. 60mFE &30 6
EHRT—TLT ¢ 75 W=30mm m 2454
EHRV— T W=400mm 4 JJL m 237.17
BKEERT @75 m 247.8

ERETL ¢75 m 15.0
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4. EMKR FZRNEFEL



VKRS N T SRR

No.1
44 Bk AR~k g | BT g B

1. &8

DIRUAT 7 =2 A H=1.8m 76.5 | m

T AR T s [1250 X 250 X 450 39| 1

FH R H=1.8m W=3.0m 4| #A

PR JERE T oy 1400 X 400 X 600 8| 1

FHBEJAE 7 oy 1200 X 200 X 200 4| &
2. G

T AT E T H=1.8m 76.5| m

(L THEET)

7 AR E T H=1.8m W=3.0m 4 | & PT

(L THEET)

T ARET H=1.8m 10.7| m
3. +T

FLAEDRH 6.4 | m3

Wty FapfE RC-40 t=10cm 1.1 ] m2

FLAEHE R 4+ 45| m3

Ui i RC-40 t=10cm 180.2 | m2

NGt AsEii®E t=4cm 180.2 | m2

AL T 4t 10.0km 1.9 m3

S U =¢ +w 1.9 m3




SRR N T B3k

LS FHE Bog | HAAL
1. &¥F
B 2AST 7 2 A |H=1.8m (48.88+13.20+13.20+13.20)-3.0 X A&7 = 76.480 76.5 |m
ey 2T 1y | [1250 X450 76.48-+2m = 38.240 39 |{@
FI5E H=1.8m W=3.0m 4 %A
MR 7 1y [ [J400 X 600 2 X 4f& 7T = 8.000 8 |
MR 7 1y [ [J200X 200 1 X ATE AT = 4.000 4 |{#
2.
7 AEE T |H=1.8m (48.88+13.20+13.20+13.20)-3.0 X 4f&5ff = 76.480 76.5 |m
(LR T EBZ 1)
7= 2GR ET |H=1.8m W=3.0m 4 |f&FT
(LR T EBZ 1)
7 = ARET. | H=1.8m 10.66 = 10.660 10.7 |m
3. +T
LR A 7 o ASERE
[1250 X450  0.45X%0.45 X 0.55H X 397 ft = 4.344
FH BE JLAE
(1400 X600  0.60 X 0.60 X 0.70H X 8 fl = 2.016
i 6.360 6.4 |m3
Pt FLrg T AKEE t=10cm
[1250 X450  0.45X0.45 X 0.10H X 398 = 0.790
P BE FL Ak t=10cm
(1400 X600  0.60 X 0.60 X 0.10H X 8 FT = 0.288
3 1.078 1.1 /m3
JLRE B 7 AR
[1250 X450  4.344-0.25X0.25X0.45H X 39f&fT =  3.247
P9 BE JL Al
(1400 X600 2.016-0.40X0.40 X 0.60H X 8T =  1.248
3 4.495 4.5 /m3
BN A RC-40 X &0
t=10cm 147.800+10.800+10.800+10.800 = 180.200 180.2 |m2
AL B Astfidk B
t=4cm 147.800+10.800+10.800+10.800 180.200 180.2 |m2
FETABE T |4t 10.0km  6.360 - 4.495 = 1.865 1.9 |m3
oy s - G w1 = 1.865 1.9 |m3




